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1 Which of the following curves correctly represents SN1 vs SN2 ?     

 (1)  (2)   

 (3)  (4)  

 

2. 

       

 ‘A’ & ‘B’ are respectively:     

 (1)   in both case   (2)   and  

 (3)  and     (4)   in both case 
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 3. The hydrolysis reaction that takes palce at the slowest rate. among the following is 

 (1) 

 

Cl 

CH3 

aq.NaOH

 

 

ONa 

CH3 

–  + 
     

 (2) H3C–CH2–Cl  aq.NaOHH3C–CH2–OH

 

  

 (3) H2CCH–CH2Cl  aq.NaOHH2C=CH–CH2OH  

 (4) 

 

CH2Cl 
aq.NaOH

 

 

CH2OH 

 
  

 

4. The correct sequence of bond enthalpy of 'C–X' bond is :  

 (1) CH3 – F > CH3 – Cl > CH3 – Br > CH3 – I  (2) CH3 – F < CH3 – Cl > CH3 – Br > CH3 – I 

 (3) CH3 – Cl > CH3 – F > CH3 – Br > CH3 – I (4) CH3 – F < CH3 – Cl < CH3 – Br < CH3 – I 

 

5. Elimination reaction of 2-Bromo-pentane to form pent-2-ene is :   

 (a) -Elimination reaction   (b) Follows Zaitsev rule  

 (c) Dehydrohalogenation reaction  (d) Dehydration reaction 

 (1) (a), (c), (d)  (2) (b), (c), (d)  (3) (a), (b), (d)  (4) (a), (b), (c)  

 

6.  EtONa

(1 mol), 
  The product is : 

 (1)   (2)   (3)   (4)  

 

7. Which of the following reaction is an elimination reaction?    

 (1) CH3–CH2–CH2–OH 5PCl
CH3–CH2–CH2–Cl  

 (2) CH3–CH=CH2
HCl   

 (3) Alc. KOH  CH3–CH=CH2   

 (4) 3CH OH
   

 

ClEtO

NO2

Cl
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8. 3CH OH


   P (Major elimination product)  

 The major  elimination (E-1) product P is : 

 (1)CH3–CH = C    (2) CH2 = CH  

 (3) CH2 = CH2     (4)  

 

9. Which of the following give fastest reaction with alcoholic KOH?   

 (1)   (2)   (3)   (4)  

 

10. A mixture of 1-chlorobutane and 2-chlorobutane when treated with alcoholic KOH gives - 

 (1) 1-Butene     (2) 2-Butene   

 (3) Isobutylene       (4) Mixture of 1-butene + 2-butene 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer Key 

1 (2) 2. (3) 3. (1) 4. (1) 5. (4) 6. (1) 7. (3)  

8. (4) 9. (2) 10. (4) 

CH —CH = C—CH3  2—CH3

—

CH3

mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

